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Section A Reading Comprehension (35 minutes)

Directions : There are 4 reading passages in this part. Each passage
is followed by some questions or unfinished statements.
For each of them there are four choices marked A),B),
C) and D). You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a

single line through the center.

Section B Translation (15 minutes)

Directions:; In this part, there are five items which you should
translate into Chinese, each item consisting of one or two
sentences. These sentences are all taken from the Reading
Passages you have just read. You are allowed 15
minutes to do the translation. You should refer back to
the passages so as to identify their meanings in the

context.



Section C Short Answer Questions (15 minutes)

Directions: In this part there is a short passage with five questions or

incomplete statements. Read the passage carefully. Then
answer the questions or complete the statements in the

Jewest possible words (not exceeding 10 words).



Test ]

Section A Reading Comprehension

Passage One

The liberal view of demacratic citizenship that developed in the
17th and 18th centuries was fundamentally different {rom that of

the classical Greeks. 1)The pursuit of private interests with as little

interference as possible from government was seen as the road to

human happiness and progress rather than the public obligations and

involvement in the collective community that were emphasized by

the Greeks. Freedom was to be realized by limiting the scope of
governmental activity and political obligation and not through
immersion in the collective life of the polis. The basic role of the
citizen was to sclect governmental leaders and keep the powers and
scope of public authority in check. On the liberal view, the rights of
citizens against the state were the focus of special emphasis.

Over time, the liberal democratic notion of citizenship
developed in two directions. First, therc was a movement to
increase the proportion of members of society who were eligible to
participate as citizens—especially through extending the right of
suffrage—and to ensure the basic political equality of all. Second,
there was a broadening of the legitimate activities of government
and a use of governmental power to redress imbalances in social and

economic life. Political citizenship became an instrument through
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which groups and classes with sufficient numbers of votes could use
the state power to enhance their social and economic well-being.
Within the general liberal view of democratic citizenship,
tensions have developed over the degree to which government can
and should be used as an instrument for promoting happiness and
well-being. Political philosopher Martin Diamond has categorized
two views of democracy as follows. On the one hand, there is the
“libertarian ” perspective that stresses the private pursuit of
happiness and emphasizes the necessity for restraint on government
and protection of individual liberties. On the other hand, there is
the “majoritarian ” view that emphasizes the “task of the
government to uplift and aid the common man against the
malefactors (32 B 4} T ) of great wealth. ” 2) The tensions between

these two views are very evident today. Taxpayer revolts and calls

for smaller government and less government regulation clash with

demands for greater government involvement in the economic

marketplace and the social sphere.

1. The author’s primary purpose is to
A)study ancient concepts of citizenship
B)contrast different notions of citizenship
C)criticize modern libertarian democracy
D)describe the importance of universal suffrage
2. Tt can be inferred from the passage that the Greek word polis
. means . '
Adfamily life B) military service
C)marriage D)political community
3. The author cites Martin Diamond (line4, para. 3) because the
author

...._4__



A ) regards Martin Diamond as an authority on political
philosophy

B)wishes to refute Martin Diamond’s views on citizenship

C)needs a definition of the term “citizenship”

D) is unfamiliar with the distinction between libertarian and
majoritarian concepts of democracy

. According to the passage, all of the following are characteristics
of the liberal idea of government that would distinguish the liberal
idea of government from the Greek idea of government EXCEPT

A)the emphasis on the rights of private citizens

B)the activities government may legitimately pursue

C)the obligation of citizens to participate in government

D)the size of the geographical area controlled by a government

. A majoritarian would be most likely to favor legislation that
would

A)eliminate all restrictions on individual liberty

B)out spending for social welfare programs

C)provide greater protection for consumers ,

D) lower taxes on the wealthy and raise taxes on the average

worker
Passage Two

By far the most common snake in Britain is the adder. In

Scotland, in fact, there are no other snakes at all. The adder is also

the only British snake with a poisonous bite. It can be found almost

anywhere, but prefers sunny hillsides and rough open country,

including highground. In Ireland there are no snakes at all.
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Most people regard snake bites as fatal misfortune, but not all
bites are serious, and very few are fatal. Sometimes attempts at
emergency treatment turn out to be more dangerous than the bite
itself, with amateurs heroically, but mistakenly, trying do-it-
yoursel{ surgery and other unnecessary measures.

All snakes have small teeth, so it follows that all snakes can
bite, but only the bite of the adder presents any danger. 3)British

snakes are shy animals and are far more frightened of you than you

could possibly be of them. The adder will attack only if it feels

threatened, as can happen if you take it by surprise and step on it
accidentally, or if you try to catch it or pick it up, which it dislikes
intensely. If it hears you coming, it will normally get out of the
way as quickly as it can, but adders cannot move very rapidly and
may attack before moving if you are very close.

The effect of bite varies considerably. It depends upon several
things, one of which is the body-weight of the person bitten. The
bigger the person, the less harmful the bite is likely to be, which is
why children suffer far more seriously from snake bites than adults.
A healthy person will also have better resistance against the poison.

Very few people actually die from snake bites in Britain, and
though these bites can make some people very ill, there are probably
just as many cases of bites having little or no effect, as there are of
serious illness.

6. Adders are most likely to be found
A)in wilder parts of Britain and Ireland
B)in Scotland and nowhere else
C)on uncultivated land throughout Britain
D)in shady fields in England
— 5 —



7. 1 you are with someone who is bitten by an adder you should

A)try to catch the adder
B)make no attempt to treat the bite
(not worry about the victim
[D)operate as soon as possible

8. We are told that adders are
Adnormally [riendly towards people
B)unlikely to bite except in self-defence
Chaggressive towards anyone in their territory
D)not afraid of human beings

9. 1f an adder hears you approaching, it will usually
A)move out of your path
B)take no notice of you at all
C)disappear very quickly
D) wait until you are close then attack

10. We are told that in general British people think snakes are

A)not very common in Britain
B)usually harmless
C)more dangerous than they usually are

DJunlikely to kill people by their bite
Passage Three

We all know that the normal human daily cycle of activity is of
some 7 ~ 8 hours’ sleep alternating with some 16 ~ 17 hours’
wakefulness and that, broadly speaking, the sleep normally
coincides with the hours of darkness. Our present concern is with
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how easily and to what extent this cycle can be modificd.
The question is no mere academic one. 4) The ease, for

example, with which people can change from working in the day to

working at night is a question of growing importance in industry

where automation calls {for round-the-clock working of machines. It

normally takes from five days to onc week for a person to adapt to a
reversed routine of sleep and wakefulness, sleeping during the day
and working at night. Unfortunately, it is often the case in
industry that shifts are changed every week; a person may work
from 12 midnight to 8 a. m. one week, 8 a. m. to 4 p. m. the
next, and 4 p. m. to 12 midnight the third and so on. This means
that no sooner has he got used to one routine than he has to change
to another, so that much of his time is spent neither working nor
sleeping very efficiently.

The only real solution appears to be to hand over the night shift
to a number of permanent night workers. An interesting study of
the domestic life and health of night-shift workers was carried out
by Brown in 1957. She found a high incidence of disturbed sleep
and other disorders among those on alternating day and night
shifts, but no abnormal occurrence of these phenomena among
those on permanent night work.

5) This latter system then appears to be the best long-term

policy, but meanwhile something may be done to relicve the strains

of alternate day and night work by selecting those people who can

adapt most quickly to the changes of routine. One way of knowing

when a person has adapted is by measuring his body temperature.
People engaged in normal daytime work will have a high
temperature during the hours of wakefulness and a low one at
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